Multiplication d’'un Monome par un Binome (1)
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Simplifiez chaque expression.

- 4h*(6R* 4 8h?)

- 85°(st + 75%)

—42°(7z + 3)

dm(4m + 3)

5k (—k* 4 9k%)

93 (9K* + k)

- 92%(52° + 527)

8zt (22% + )

4n?(3n* +n?)

- 6g°(—5g” + 69)
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Multiplication d’'un Monome par un Binome (I) Réponses
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Simplifiez chaque expression.

- 4h*(6h* + 8h?)

— 241° + 32h%

- 85°(st + 75%)

— 8s” + 565°

—42°(7z 4 3)
= —92820 —122°

- 4m(4m + 3)

— 16m> + 12m

SR (—k* 4 9K?)

— —5k5 + 45k°

9k3(9K* + k)
= 81k° + 63k*

- 92%(52% 4+ 527)

— 452° + 452%

8x*(22% + )
= 162° + 82°

4n®(3n* + n3)
= 12n" 4 4n°

- 6g°(—5¢% + 69)

= —30g° + 364"

MathsLibres.com




